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Practice 4D: Chapter 10, pages 30-31

Compute each quotient. Give your answer in simplest form.
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Fill in the blank in each equation below with the correct number in simplest form.
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Practice 4D: Chapter 10, pages 30-31

5+4=5x6=30 35+1=33x5=15+2=15+33=182
2+1=3x2=20=3-12 7+1=7x3=21
5+(3+4)=5+(gx4)=5+5=5+1=5x2=10 42+1=42x8=32+12=32+17=33]
52+ =52x21=105+2=105+9 =114 eljsdo g loBlel 2liq ppt
=21x2=21-10]
4%+%:4%x9=36+7—92:36+8:44 2+;:2x7:14
31+-=31x11=33+11=33+32-362 Lelodxig=1
(16+4)+2=(16x3)+7=48x2=96 12+1=12x14=168
(el =+ (Fx2)=L+2=2+1 35+15=82x12=36+2=36+
=ix5=3-38 :36+4%:40%
x7:21,so@+%:21 %XQ=20, o) %+%=20 or 2% +%:20
[3]x30=90, s0[3]+7:=90 [6]x5=30, s0 [6]++=30
2 |x22=16,50| & |+ =16 [17]x13 =221, s0[17]+ - = 221
Dix42=60,s0| 2|+ L=60 or [13|:L=72 x16 72, so—ﬁ—72 or |43 |+1=72




